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T ht—F A109141105 £0A 88.8 1 4000
TEk ht+—H A109141108 73018 86.68 2 3000
TE ht—F A109141109 F O 84.16 3 ERER | BRABALAE
TEk ht—"H A108141106 £0R 89.74 1 4000
T2k ht_"F A108141110 BROE 88.24 2 3000
TEk ht+—"H A108141116 FORK 87.59 3 ERER  |MBABALRE
T ht=F A107141115 Otk 89.52 1 4000
TEk ht=H A107141134 BO= 88.42 2 3000
Tk ht=F A107141103 F203F 85.6 3 2000
TEk hiE—H A109147103 SO 91.46 1 4000
T2k hiE—H A109147102 F05 89.5 2 3000
TEk hiE—H A109147113 F Ot 87.36 3 ERER  |MBABALRE
T hE_H A108147109 =08 88.65 1 4000
TEk hiE_"H A108147106 ERO&E 86.94 2 3000
TE hE_H A108147107 filoE 86.68 3 2000
TEk hiE=HF A107147101 HE O 92.59 1 4000
Tk hiE—HF A107147113 FOi 89.59 2 3000
TEk hiE=HF A107147102 20 88.48 3 2000
BEEKR HAE/ME—F A109182103 ROf 90.1 1 4000
BEEMk HESME—P A109182107 FOE 89.33 2 3000
BEEKR HASEME—F A109182101 41013 88.5 3 2000
BEEMk HAZ/mEe_F A108182109 BROE 89.57 1 4000
BEEKR HASMmB_F A108182150 BROME 88.89 2 3000
BEEMk HAESEME= A107182104 2014 95 1 4000
BEEKR HAZEfME=H A107182120 [fiO% 91.77 2 3000
BEEMk HESEME= A107182119 $Eox 87.17 3 2000
BEEKR HASEfENE 1061331111 O 83.47 1 4000
BEEMk HAZ#8I0 P 1061331148 BOoff 81.79 2 3000
BEEKR HASEfENE 1061331132 =08 81.47 3 2000
BEEMk HAESEMEHP 1051331119 5ROIE 90.5 2 3000
BBk HASHE—P A109183120 MOx 88.72 1 4000
BEEMk HASEHE—5 A109183106 =07 86.25 2 3000
BEEKR HAS&HE—P A109183104 =05 86.16 3 2000
BEEMk HAhS&HmE _F A108183127 =08 86.36 1 4000
BEEKR HASHE _P A108183120 Ok 85.72 2 3000
BEEMk HAhS&HmE _F A108183106 5ROF 85.27 3 2000
BEEKR HASHE = A107183122 A0 86.6 1 4000
BEEMk HASHmHE = A107183109 FEOHT 86.45 2 3000
BEEKR HASHE = A107183121 =08 83.9 3 2000
BEEMk HA S0P 1061332105 =0#f 86.63 1 4000
BEEK HA S &1 1061332108 BEOoi 83.88 2 3000
BEEMk HA S0P 1061332128 2ot 83.25 3 2000
BEEKR HAS&HHEAP 1051332145 #EOB 90.77 2 3000
BEEMk HASHmEAP 1051332116 HHOET 90.15 3 2000
KEZ R HEZRER—HF A109179105 FO5E 89.24 1 4000
KER R HESRER—HF A109179103 =0 88.21 2 EEER  |BRARALE
KEZER HASRER—H A109179111 FOHI 87.41 3 ERER  |MBAEBALRE
KER HESRER_F A108179105 NOES 92.05 1 4000
KEZEH HASRER _H A108179107 RO& 87.67 2 3000
KER R HESRER_H A108179111 2015 85.38 3 ERER  |MBABALE
KBS HESRER=F A107179107 H 0 85.45 1 4000
KB HESRER=HF A107179101 MO 83.24 2 3000
KEZEM HASRER=H A107179104 FOo= 82.45 3 2000
Tk RAE=H B109147103 HOF 82.5 1 4000
T2k REE—F B109147112 FO#t 82 2 3000
Tk KAE=H B109147102 BROIZ 82 2 3000
TEk AR B108147108 BROR 88.09 1 4000
T2k AR B108147101 O 85.28 2 ERER  |MBABLE
T2k AR B108147105 HOFF 84.6 3 ERER  |MBAEBALRE
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T2k RT=F B109143107 EROM# 93.26 1 4000
TEk RT=F B109143101 EOE 90.76 2 3000
T2k RT=F B109143108 2lo3& 90.07 3 ERER  |MBABAE
TEk I TR B108143105 BROZ= 91.9 1 4000
T2k K TPOE B108143104 I Of 91.44 2 ERER | MBRABALE
TEk I TR B108143106 HO#E 91 3 ERER  |MBAEBLRE
SMNEE R HOoREE=X B109133319 o= 94.3 1 4000
PN A H_REE=X B109133308 #O05 93.63 2 3000
SMNEE PR HoREE=X B109133303 EfO%= 92.52 3 ERER  |MBABALAE
PN A H _#Ezlx B108133302 EO## 94.67 1 4000
SMNEE R H _# sy B108133306 O 93.5 2 3000
PN A H _#Ezlx B108133308 HO= 93.4 3 ERER  |MBABALRE
SRR H_REH=KR B109134317 B0E 91.43 1 4000
PN A H_REH=K B109134324 BRO&E 89.1 2 3000
SRR Ho_REH=KR B109134315 EOox 88.83 3 2000
PN A H_&EHNA B108134302 ZFO4H 93.79 1 4000
SRR H_&EHNA B108134306 =0 93.77 2 3000
PN A H_&EHNA B108134303 201 92.05 3 ERER  |MBABALE
M ERBMh H_#=rlUA B108125303 FOfl 83.93 1 4000
BEEKR H_BEfMix=H5 B109182104 =038 87.54 1 4000
BEEMk HO_EMx=HF B109182107 ROH 85.93 2 3000
B2k H_BEMx=H5 B109182103 2o 85.7 3 2000
BE2MkR H_ s x5 B108182117 BROFR 94 1 4000
BEEKR H BP0 B108182128 O 93.91 2 3000
BEEMk H SO B108182106 BOET 93.18 3 2000
BEEKR H_ Bt =5 B109183103 SOl 82.79 1 4000
BEEMk HO_XEmiE =5 B109183104 pKe)): 82.67 2 3000
BEEK H_Bimt =5 B109183105 MOJE 82.38 3 2000
BEEMk H im0 B108183102 HORY 89.2 1 4000
BEEKR H 5wt 03 B108183141 MO 85.29 2 3000
BEEMk H im0 B108183123 FOxX 84.88 3 2000
EHEENSER | HUKXFEE—F C109187115 =0R= 83.59 1 4000
SHESHER | BORFEIR—F C109187165 EO#T 83.04 2 3000
EHEENSER | HURXFEE—F C109187122 JLO5E 80.78 3 2000
SHESMER | ANRFEER_ C108187101 $205A 93.33 1 4000
SHEENSER | HUKXFEE"H C108187144 RO 90.58 2 3000
SHEASHER | ANRFEIR_ C108187147 SROET 89.95 3 2000
SHEENSER | HUKXFEE -8 C107187130 HOFE 90.45 1 4000
SHESHMER | BRI EIRIH 1061244133 BRO#E 93.13 1 4000
SHEENSER | HIUKFEEEINE 1061244109 ZFOF 92.75 2 3000
EHAGNEM | HIURXFEFENE 1061244128 =0& 92.75 2 3000
EIREM Y = —F C109159129 F0:8 90.75 1 4000
BIESM [ C109159130 RO&E 90.33 2 3000
EIREM P9 = —F C109159118 #0139 88.29 3 2000
EEEBR Py EH = — HH C108159125 BROSE 90.19 1 4000
BB DY EE {F — HH C108159109 #OIE 88.96 2 3000
S8R DB = — FH C108159122 ZOFR 88.92 3 2000
EIREM PO i =F C107159151 =0 92.06 1 4000
S8R P B = = FH C107159115 5ROIE 90.81 2 3000
BIREM PO i = C107159114 HO%E 90.13 3 2000
BIESM 7Y ] £ P B 1106133102 Ok 94.63 1 4000
EIREM /Y [ 7 O ER 1106133114 JOox 94.25 2 3000
BIESM 7Y ] £ P B 1106133111 HOR 94 3 2000
EIREM 7Y [ 7 O ER 1106133150 5058 94 3 2000
BIESMh 7Y ] 1 P B 1106133121 HO& 94 3 2000
EESSELELE NEE—H C109161105 HOZ) 95.1 1 4000
BEEEER L C109161129 FFO8% 94.38 2 3000
EESSELELD NEE—H C109161125 5ROES 93.91 3 2000
BEEZER NEE_H C108161103 FOE 93.17 1 4000
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EESSELELS NEE_H C108161118 5ROIE 92.13 2 3000
EESSELELE NEE_H C108161156 %0 90.83 3 2000
BEEEER [y C107161102 SROB 94.29 1 4000
EESSELELG s C107161123 MOE 93.04 2 3000
BEEEER [y C107161104 HO® 92.52 3 2000
EESSELELE & 1106163147 ={0)ad 95.5 1 4000
BEEZER &P 1106132124 HOZ 95 2 3000
EESSELELE & 1106132121 R0E 93.5 3 2000
SRS EM EFH—H C109112128 o= 88.95 1 4000
BHEENEM BFH—HF C109112109 MO 88.59 2 3000
SRS EM EFH—H C109112113 =03 88.45 3 2000
BHEENEMN BFH_9F C108112134 #EO= 91.25 1 4000
SRS EFH_H C108112107 RO 90.52 2 3000
BHEENEM BFx_9F C108112141 ([e)= 90.36 3 2000
SRS EfFZ=H C107112185 BROA 95.14 1 4000
BHEENEM BFH=F C107112138 FOE 94.91 2 3000
SRS EFH=H C107112126 iil{e}:: 93.11 3 2000
BHEENEMN BF MNP 0652029 ZO0i5 99.5 1 4000
SRS EFZIH 0652022 =07t 97.43 2 3000
BHEENEN EEHZ—H C109110150 RO 85.79 1 4000
SRS EERA—H C109110125 FFOF 84.5 2 3000
BHEENEM EEHZ—H C109110130 FFOM 84 3 2000
SRS EM BRZ2—C C109110221 HORE 91.5 1 4000
BHEENEM BRi—4 C109110207 L0IR 90.29 2 3000
SRS EM BRZ2—L C109110218 BRO%E 84.33 3 2000
BHEENEM BiFE%_H C108110128 MOE 94.65 1 4000
SRS EM EiFEAH_H C108110121 EokS 89.48 2 3000
BHEENEM BiFEx_H C108110125 EOE 89.14 3 2000
SRS EiEA_O C108110227 OB 95.95 1 4000
BHBEENE BEZ2_4 C108110250 BROFN 95.33 2 3000
SRS BiRE_0 C108110244 HOE 90.84 3 2000
EETA%@ 52k BiEA=F C107110147 208 94.1 1 4000
SRS EM EiFEA—H C107110106 0% 93.87 2 3000
BHEENEMN BiEA = C107110133 BRO= 93.22 3 2000
SRS EM BEZ=0 C107110245 FOIH 92.57 1 4000
BHBEENEN @E?E%EZ; C107110236 SROLE 91.45 2 3000
SRS EM BRRE=C C107110207 FO%E 91.22 3 2000
E'ﬂrl%f—ﬂ a2k e EEY MRS 0651095 ERO&¥ 95.27 1 4000
EREEHEM R UEE 0651113 Mok 95 2 3000
BHEENEMN e EEY LS 0651045 BO#E 93.36 3 2000
EREEHEM S EE U 0651036 ROZ= 95.7 1 4000
BHBEENEN BEZMNS 0651040 OB 94.47 2 3000
SRS EM MET—H C109151138 BOiE 87.37 2 3000
E'ﬂrl%f—ﬂ a2k MET —H C109151119 07T 85.17 3 2000
SRS MET _H C108151145 MHOR 94.71 1 4000
BHBEENE MET _H C108151107 PeO#: 93 2 3000
SRS EM MET _H C108151119 HO%E 92.67 3 2000
BHBEENEN MET —H C107151103 B O35k 94.5 1 4000
EREEHEM MET=H C107151115 1503 92.95 2 3000
EETA%@ a2k MET —H C107151147 el 92.17 3 2000
SRS EM & TPuE 1106108154 F05 92.3 1 4000
BHEENEM P& T PYE 1106108123 R0 90.5 2 3000
SRS EM & TPuE 1106105301 FORt 89.5 3 2000
Tk P{E4—H C109146113 = Ot 90.29 1 4000
TEk r{E#1—H C109146115 FOE 88.04 2 3000
T2k P{E4—H C109146129 MOt 87.75 3 2000
T2k e —4 C109146204 ZO%E 92.77 1 4000
T2k M —2 C109146217 CES 86.55 2 3000
T2k e —4 C109146208 E0%E 86.41 3 2000

3H

17H




B SERIRKB1092 F 12 HE IR FE AR BRI =

R

b HEeR 9 gH | BRI | Gk L
T PqE41 —HF C108146141 O 89.38 1 4000
TEk PoqE#1 —H C108146150 20 86.11 2 3000
Tk PqE4 —HF C108146119 =O0F 86 3 2000
TEk ME# —2 C108146220 ROfM| 92.74 1 4000
Tk MEs —& C108146206 KO 91.32 2 3000
TEk ME#—2 C108146237 =0R 88.47 3 2000
TEk P{E# =F C107146130 ROM 91.89 1 4000
TEk P{E#1 =H C107146106 7O 90.67 2 3000
TEk P{E# =F C107146136 BRO5E 89.06 3 2000
TEk M= C107146238 =10)= 93.47 1 4000
TEk M{EM=2 C107146231 E O 90.88 3 2000
TEk P9{E47 4 1106101131 O 90.55 1 4000
T2k PO{E47 0 1106101134 IO 88.4 2 3000
TEk P9{E#47 4 1106101117 ROF 87.2 3 2000
TEk P{E# P2, 1106101220 MHO% 89.08 1 4000
TEk M{E# Mz 1106101241 F0H 88.69 2 3000
TEk eI 2 1106101215 H O, 87.11 3 2000
TEk M+ —H C109141114 HOsl 91.83 1 4000
TEk m+—H C109141106 EORE 88.65 2 3000
TEk M+ —H C109141111 2lotr 88 3 2000
TEk nt+—2 C109141202 FO1h 90.43 1 4000
TEk nt—2& C109141231 5RORR 87.43 2 3000
TE nt+—2 C109141229 HO=Z 87.17 3 2000
TEk M+ —H C108141104 fIo& 92.36 1 4000
TE M+ C108141103 TOF 88.63 2 3000
TEk M+ —H C108141101 SEOR 85.96 3 2000
TEk Nt+—24 C108141213 FO= 87.24 1 4000
TEk L C108141232 708 86.81 2 3000
TEk Nt+—24 C108141206 FTOf% 84.04 3 2000
TEk Mt =H C107141169 =0IE 93.53 1 4000
TEk Mt =F C107141138 20E 91.41 2 3000
TEk Mt =H C107141106 20X 89.16 3 2000
TEk Nt=2 C107141214 BRO4H 91.24 1 4000
TEk nNt=2 C107141243 EOE 90.48 2 3000
T2k Nt=2 C107141242 F0H 89.44 3 2000
TEk 7q+ PO ER 1106102152 $0E 89.5 1 4000
Tk g+ PoER 1106102149 #0119 88.33 2 3000
TEk g+ PoER 1106102153 S0iE 87.62 3 2000
T Mtz 1106102248 BROM, 91.23 1 4000
TEk Mtz 1106102227 SROMM 91.11 2 3000
Tk mtpz 1106102262 770ZF 90.44 3 2000
TEk 9% —ER C109142144 BRO#E 87.04 1 4000
Tk PO —ER C109142101 P ORE 85.74 2 3000
TEk PO #%—ER C109142112 F0oH 85.57 3 2000
Tk #—2 C109142209 TOF 86.24 1 4000
TEk % —2 C109142213 FOX 86.1 2 3000
TEk #—2 C109142201 RO= 85.52 3 2000
TEk N —R C109142332 104 85.76 1 4000
T2k H—R C109142331 %0IR 85.07 2 3000
TEk N —R C109142307 5RO 83.26 3 2000
T2k PO — BB C108142154 HOZR 93 1 4000
TEk POt —H C108142140 1%0lE 90 2 3000
T PO — BB C108142101 ek 89.85 3 2000
TEk g —2 C108142226 FO¥ 93.52 1 4000
T i — 2 C108142216 ROZ 88.17 2 3000
TEk g —2 C108142231 Fo#& 85.19 3 2000
TE A C108142302 FOL 88.09 1 4000
TEk Mg _—A C108142303 ALOfE 83.26 2 3000
TEk A C108142340 S0R- 82.44 3 2000
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T PO — R C107142108 15087 90.67 1 4000
TEk Toi% —H C107142118 HOK 86.48 2 3000
Tk PO — R C107142136 HOIR 85.92 3 2000
T2k %= C107142231 HOZ= 92.05 1 4000
Tk =2 C107142253 20X 91.37 2 3000
TEk %= C107142223 OB 89.81 3 2000
TEk =K C107142334 408l 92.7 1 4000
TEk mg=" C107142344 RO 91.19 2 3000
TEk =K C107142330 JTO% 88.96 3 2000
TEk 7 ##% 0 ER 1106103141 S TOM, 89.38 1 4000
TE I % 0 ER 1106103118 =01l 89.11 2 3000
TEk 7Y ##% 1 ER 1106103156 HOE 86.42 3 2000
T T#pN 2, 1106103225 BROZ%E 92.27 2 3000
TEk Mz 1106103229 EROH 90.38 3 2000
T2k g T 1106103318 EOIE 90 1 4000
TEk S U] 1106103337 5RO 89.4 2 3000
Tk g T 1106103350 EAOM 89.29 3 2000
BHEENE E—H C109154144 HHO= 89.84 1 4000
BB ENEN E—H C109154124 =0% 86.83 2 3000
BRGNS E—H C109154145 %03 86.57 3 2000
BB ENEMN NE—-4 C109154235 MHOE 90.56 1 4000
BHEENE N&E—24 C109154264 S0E 86.72 2 3000
BB ENEMN NE—-4 C109154244 #O% 86.28 3 2000
BTN E NE—A C109154319 RO= 91.36 1 4000
BB ENEM NE—A C109154331 =0m 88.91 2 3000
BRSNS NE—A C109154308 ZOox 88.08 3 2000
BB ENEM E_F C108154105 S0 90.35 1 4000
BHAETE ME_H C108154114 FO# 87 2 3000
BB ENEMN ME_H C108154136 ROE 86.79 3 2000
BTN E NE_4 C108154214 JOA 90.72 1 4000
BHBEENEM ME_2 C108154226 BROF 87.95 2 3000
BRSNS NE_4 C108154237 £0% 86.65 3 2000
BHBEENEMN MEe_R C108185118 20\ 91.35 1 4000
BRGNS NE_R C108154338 BROTT 89.4 2 3000
BB ENEMN ME_R C108185131 ZI0E 86.95 3 2000
BRGNS ME=H C107154148 SOFR 91.47 1 4000
BB ENEM &= C107154139 E0R%R 91.2 2 3000
BRGNS ME=H C107154121 Zo%= 91.17 3 2000
BB ENEM NE=25 C107154242 IiO= 95.32 1 4000
BHEENE NE=2 C107154256 HOE 91.47 2 3000
BHBEENEMN NE= C107154231 BROtE 89.67 3 2000
BHEAENE NE=RN C107154328 =03 93.5 1 4000
BB ENEMN &= C107154339 Zlota 91.81 2 3000
BRGNS NE=RN C107154333 5RO 89.75 3 2000
BB ENEM s 1106104154 HORE 92.4 1 4000
BRGNS FEErY & 1106104107 KROE 92 2 3000
BB ENEMN s 1106104149 0% 90.2 3 2000
BRGNS FyEErY & 1106104133 JTOE 90.2 3 2000
BB ENEN NENs 1106104223 BROR 93.33 1 4000
BRGNS NENL 1106104233 MOH 93.27 2 3000
BB ENEN NENL 1106104280 Fo2 93 3 2000
BHEENE MENA 1106104305 =082 93.42 1 4000
BB ENEM MENA 1106104333 [Z18)ES 92.86 2 3000
BRGNS MENA 1106104308 ZI0E 91 3 2000
BB ENEM +—FH C109152125 £01% 88.43 1 4000
BHEENE L C109152145 BROZ= 87.43 2 3000
BB ENEMN g+—FH C109152153 ZOR 84.35 3 2000
BRGNS N+—2 C109152242 HOE 86.1 1 4000
BB ENEMN N¥r—2 C109152202 5RO 85.53 2 3000
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BB ENEMN N¥r—2 C109152221 5ROIE 85 3 2000
BRGNS N¥—A C109152313 ROME 84.14 1 4000
BHBEENEMN N+—A C109152310 =0 83.79 2 3000
BRGNS N¥—A C109152334 [t OF) 82.95 3 2000
BB ENEMN M+ C108152124 MOR 95.39 1 4000
BRSNS Nr_% C108152123 FO=E 92.1 2 3000
BB ENEMN n+_4 C108152213 0% 90.42 1 4000
BHEAENE nx_2 C108152203 FOE 89.26 2 3000
BB ENEM n+_4 C108152248 =07 88.06 3 2000
BRGNS N+_R C108152352 FOR 89.37 1 4000
BHBEENEM m+_RN C108152320 £01E 88.94 2 3000
BRGNS N+_R C108152305 ZF Ol 85.89 3 2000
BHBEENEMN +=H C107152144 B0 90.88 1 4000
BHEAENE Nr=% C107152134 EOA] 87.41 2 3000
BB ENEMN M= C107152137 RO 87.09 3 2000
BRGNS N¥x=2 C107152232 20 93.96 1 4000
BB ENE N¥=2 C107152214 E0OR 92.1 2 3000
BHEENE Nx=2 C107152230 ZOB 91.62 3 2000
BB ENEM N+=KN C107152315 H O 92.25 1 4000
BRGNS N+=KN C107152303 =0 89.29 2 3000
BHBEENEM m+=KN C107152330 £0#% 89 3 2000
BRGNS I [Pq& 1106105128 20 91.29 2 3000
BB ENEM g+ PgEe 1106105136 fojo# 91.06 3 2000
BRGNS M+ 1106105235 BROS 91.07 1 4000
BB ENEMN NxMs 1106105210 BROF 90.83 2 3000
BRGNS M+ 1106105237 Fo#’ 90.77 3 2000
BB ENEM N+rA 1106105307 FOK 91.47 1 4000
BHEAENE ¥R 1106105334 #EO0J5 90.42 2 3000
TEk ry#&E—H C109147101 ERORY 90.61 1 4000
TEk PuE—H C109147102 RO 85.44 2 3000
T2k ry#&E—H C109147127 ROE 82.75 3 2000
TEk mE—2 C109147203 o 86.4 1 4000
T2k N#E—2 C109147202 FOE 83.74 2 3000
TEk mE—2 C109147232 S0E 80.9 3 2000
T2k N#E—2 C109147238 SOA] 80.9 3 2000
TEk NE—R C109147354 2039 86.13 1 4000
T2k M&E—A C109147305 MOAH 85.61 2 3000
TEk NE—R C109147301 =0/ 85.43 3 2000
TEk PR C108147101 20X 87.17 1 4000
TEk PoisE —H C108147113 %05 85.67 2 3000
Tk PR C108147128 MOk 83.63 3 2000
TEk mE_Z C108147234 £082 89.72 1 4000
TE MRE_Z C108147244 EX0): 85.36 2 3000
T2k e _—Z C108147227 #Oo 84.22 3 2000
T2k ME_A C108147313 BROTA 89.86 1 4000
Tk MR C108147333 BROFR 89.86 1 4000
TEk ME_A C108147343 73051 89.68 3 2000
Tk P& —H C107147114 MOR 91.04 1 4000
T2k 4% —H C107147151 F05 88.71 2 3000
Tk P& —H C107147132 OB 88.19 3 2000
TEk ME=2 C107147213 5RO 90.85 1 4000
T NE=2 C107147240 BROYF 88.96 2 3000
TEk M= C107147244 FFOfE 88.71 3 2000
TEk ME=A C107147319 O 88.73 1 4000
TEk ME=R C107147326 EFOR 88 2 3000
TEk ME=A C107147335 [iOf& 86.86 3 2000
TEk PO Y ER 1106106109 ZF Ol 91.15 1 4000
T2k Pg#& IY e 1106106143 MOF 89.67 2 3000
TEk PO Y R 1106106102 BROTR 89.25 3 2000
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T2k &Nz 1106106281 RO 90.17 1 4000
TEk &Nz 1106106228 HOMH 87.81 2 3000
T2k &Nz 1106106239 =0I% 86 3 2000
TEk PSP 1106106305 gZofa 93 1 4000
T2k A& NA 1106106315 =0 92.57 2 3000
TEk PSP 1106106337 =08 91 3 2000
Tk MT—H C109143127 =0Ug 85.93 1 4000
TEk NI —H C109143125 FFO0& 85.44 2 3000
T2k MT—H C109143128 05 85.07 3 2000
TEk T _H C108143133 70k 90.78 1 4000
Tk T C108143137 BROJK 90.44 2 3000
TEk T _H C108143143 =08 89.71 3 2000
T2 T —=F C107143165 FOx 93.56 1 4000
TEk T = C107143169 ROIR 92.39 2 3000
T T —=F C107243104 ZoX 91.7 3 2000
TEk V0T PgER 1106107127 =0:H 94.56 1 4000
Tk PNTPOER 1106107135 =OiE 92.5 2 3000
TEk V0T PgER 1106107156 BROR 91.83 3 2000
T2k =EER—H C109106126 FOt 84.76 1 4000
TEk EE%—H C109106131 ROE 84.04 2 3000
T2k =EER—H C109106137 MO 83.81 3 2000
TEk 224 C109106241 HO= 83.45 1 4000
T2k 2RS4 C109106221 2o 82.43 2 3000
TEk 2R 4 C109106248 ZI0H 81.63 3 2000
T EEZ_H C108106136 RO& 88.95 2 3000
TEk ERR_H C108106118 E0) 85.75 3 2000
TEk EEZ_ 4 C108106205 20 92.68 1 4000
T2k et e C108106202 TOE 91.26 2 3000
TEk EEZ_ 4 C108106203 MOz 90.06 3 2000
TEk ERR=H C107106117 =01 87.21 1 4000
T EER=H C107106108 =08 86.47 2 3000
TEk ERR=H C107106104 ROE 84.84 3 2000
Tk EEE=4 C107106216 =017 94.23 1 4000
TEk ER:R=4 C107106218 BROE 90.08 2 3000
T2k EER=4 C107106242 JI0E 90.05 3 2000
TEk - EYUES 0612005 FO& 94 1 4000
T2k EEZRH 0612109 =OM 93.25 2 3000
TEk - EYUES 0612085 BOM 92.36 3 2000
T2k EEZNS 0612060 BRO#E 89.47 1 4000
TEk =ERZNL 0612044 07 89.27 2 3000
T2k EEZ0S 0612068 =0I% 89.19 3 2000
TEk ES C109107123 =0& 88.27 1 4000
TE BZ%—H C109107102 FOiH 87.92 2 3000
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BEEKR H P EE P 1061244105 EOi 90.21 1 4000
BEEMk H P+ B I 1061236141 FTO#T 87.54 2 3000
BEEKR H % EE 0 1061236105 FTOIZ 85.36 3 2000
KE 2 HIEER—H C109184102 208 88.54 1 4000
KEZ R HIOR gE—F C109184112 MORE 85.32 2 3000
KE 2 HIOEosR—H C109184123 =0% 83.91 3 2000
KEZ R HIOR gE_F C108184126 MOE 94.63 1 4000
KE 2 HIOsosiR_ B C108284106 5RO 85.46 2 3000
KEZ R HIOR gE_F C108284101 FOR 85 3 2000
KE 2 HIOEEIR=H C107184102 MOE 91.33 1 4000
KEZ R HIOR BE—F C107184150 BROIE 87.69 2 3000
KE 2 HIOEsIR= C107184113 FROZR 86.65 3 2000
KEE R HIOR 8RN 1061239137 FTORR 93.29 1 4000
KE 2 H 0z I 3 1061239158 EfO& 92.86 2 3000
KER R B0 8RN 1061239132 1BHO% 91.71 3 2000
BEEMk H A —H C109182104 FOE 88.12 1 4000
BEEKR H I i —E C109182106 BROK 84.17 2 3000
BEEMk H A i —H C109182134 =0 83.78 3 2000
BEEKR H I i — BB C108182108 EzOIH 92.69 1 4000
BEEMk H i — 5 C108182142 ZROJ 87.5 2 3000
BEEKR H i — B C108182141 =0F 87.42 3 2000
BEEMk H i = C107182143 BRO%E 90.33 1 4000
BEEKR H I i =B C107182105 =08 90.29 2 3000
BEEMk H s i =5 C107182101 #FO= 88.25 3 2000
BEEKR HIEEwE—2 C109183239 ZlOTT 84.69 1 4000
BEEMk HI % —2 C109183232 MORE 84.46 2 3000
BEEMk HIOREwE—C C109183241 5RO0X 83.69 3 2000
BEEK HI s _— 2 C108183209 08 94.5 1 4000
BEEMk HIOREwE _ 2 C108183205 70HE 90.82 2 3000
BEEKR HIO s _— 2 C108183223 FOiE 90.61 3 2000
BEEMk HIOREwE =2 C107183206 =012 88.13 1 4000
BEEK HIEEwE =2 C107183201 HO&E 87.81 2 3000
BEEMk HIOREwE =2 C107183205 BRO%A 86.3 3 2000
BEEKR HI w02 1061232230 BOo#W 89 1 4000
BEEMk HIO w2 1061232207 FROE 88.17 2 3000
BEEKR HI w02 1061232243 BROx 87 3 2000
BEEMk HIOx8E—H C109181147 SOl 80.18 2 3000
BEEKR HIEEE—H C109181133 FOR 79.81 3 2000
BEEMk HOEsE_H C108181181 ERO 87.96 1 4000
BEEKR HIE &P C108181114 =0 81.38 2 3000
BEEMk HIOEsE_ B C108181115 fZOo% 81.11 3 ERER  |MBABALE
BEEKR HI#E &= C107181144 ZOFR 93 1 4000
BEEMk HsEE=H C107181147 BROX 91.46 2 3000
BEEKR HI#EE = C107181141 FOH 90 3 2000
BEEMk HI s &I $ 1061247119 oW 91.25 1 4000
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BEEKR HI 8 &1 EH 1061247110 EOi 90.79 2 3000
BEEMk HI s &I $ 1061247134 fIo&E 87.33 3 2000
BEEKR HI &1 1061247144 =0R 87.33 3 2000
BEEMk HI s &I $ 1061247106 O 87.33 3 2000
KEE R HEmE—8 C109179102 RO#t 91.39 1 4000
KE 2 HOX aE—H C109179108 o 87.11 2 3000
KEE R HEomE—8 C109179132 =08 84.78 3 2000
KE 2k HIO e _H C108179112 PO 87.38 1 4000
KEE R HO e _F C108179109 BROIS 86.81 2 3000
KE 2 HIO e _H C108179115 MOE 85.96 3 2000
KEE R HEomaE =5 C107179164 0B 90.14 1 4000
UEEL HIOXRE=H C107179131 BROIE 85.07 2 3000
KEE R HOEoaE =5 C107179114 sROFE 84.86 3 2000
UEEL HIOR REIE 1061233108 FOE 88.67 1 4000
KEE R HIEomE P 1061233112 BROX 88 2 3000
UEEL HIOR REIE 1061233190 BOf& 87.21 3 2000
KEE R HIORKE—F C109176105 =0%& 89.95 1 4000
KE 2 HIOXKE—F C109176106 FOo= 89.65 2 3000
KEE R HIOXKE—F C108176146 2O 89.57 3 2000
KE 2 HIUORKE—S C109176252 20ORE 86.17 1 4000
KEE R HIUORKE—S C109176245 2I0% 86 2 3000
KE 2 HIUORKE—S C109176253 ek 85.41 3 2000
KEE R HIORKE_F C108176131 BROM 92.22 1 4000
KE 2k HIOXKE_H C108176102 mO&E 91.32 2 3000
KEE R HIORKE_F C108176120 Ol 90.38 3 2000
KE 2 HIUORKEZS C108176208 HOE 92.39 1 4000
KEE R HIURKE_ZD C108176232 ZO% 91.38 2 3000
KE 2 HIUORKEZS C108176255 F0E 89.65 3 2000
KEE R HIOXKE=F C107176101 FO0H 88.14 1 4000
KE 2 HIOXKE=HF C107176125 FEOYF 87.06 2 3000
KEZ R HIORKE=F C107176117 (O E} 85.88 3 2000
UEEL HIUORKE=S C107176242 Oz 90.24 1 4000
KEE R HIURKE=L C107178125 B Otk 88.59 2 3000
UEEL HIUORKE=S C107176229 20K 87.47 3 2000
KB HIOR KB 1061234120 B8O 89.31 1 4000
KE 2 HIOR KB 1061234148 RO 89.08 2 3000
KEE R HIOR KB 1061234121 FOE 88.46 3 2000
KE 2 HIORKENZ 1061234206 BROZE 94.08 1 4000
KEE R HIORKENZ 1061234225 5RO 92.42 2 3000
KE 2 HIORKENZ 1061234252 O 90.83 3 2000
KEE R HIORKE—F C109177105 ZlOoHN 84.28 1 4000
KE 2 HIORKE—H C109177102 5RO%= 84.15 2 3000
KEZ R HIORKE—F C109177106 FROs 83.04 3 2000
KE 2 HIUORKE—S C109177207 FO% 82.1 2 3000
KEE R B KE—S C109177241 BROEE 81.4 3 2000
UEEL HIORKE_H C108177106 POo= 84.37 1 4000
KEE R HIORKE_F C108177110 =0% 79.76 2 3000
UEEL HIORKE_H C108177124 F03 77.65 3 2000
KEE R HIORKE_Z C108177209 =0X 89.74 2 3000
UEEL HIUORKEZS C108177205 FO&¥ 88.84 3 2000
KEE R HIORKE=F C107177143 MHOZ&E 83.13 1 4000
KE 2 HIORKE=F C107177144 BRO%E 82.27 2 3000
KEE R HIURKE=2 C107177202 =0X 88.26 1 4000
KE 2 HIUORKE=S C107177232 Z0%E 81.89 2 3000
KEE R HIUORKE=C C107177239 FEOE 79.11 3 2000
KE 2 HPOR K E D 1061237104 RO® 88.44 1 4000
KEE R HPOR K &EZ QR 1061237102 BROME 85.44 2 3000
KE 2 HPOR K E PO 1061237103 EO#f 85.42 3 2000
KEE R BN K&ENZ 1061237204 HOB 87.7 1 4000
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BB ER HOUEBER—L C109193229 DOkl 85.77 2 3000
EBEEMNR HNEEER—C C109193218 o1 83.38 3 2000
BEBBER HEBER_H C108193104 ZOIE 92.58 1 4000
EBERMNR HOREER_H C108193135 FO% 87.88 2 3000
BEBBER HOIERBER_S C108193207 (Z18) 89.9 1 4000
EBERMNR HORBER_S 108193229 BROFE 89.19 2 3000
BEBBER HOIERBER_S C108193248 BROMR 86.14 3 2000
EBEEMNR HNEEER = C107193137 ROE 92.55 1 4000
BEBBER HNEEELR = C107193144 1502 914 2 3000
EBERMNR HORBER=F C107193140 808 91.17 3 2000
BEBBER HOUERBER=C C107193216 20/ 91.84 1 4000
EBERMNR HUEEER=C C107193228 F0o= 90.15 2 3000
BEBBER HOUERBER=C C107193208 HOE 89.85 3 2000
EBERMNR HIEE £ 05 1061241122 5RO 91.25 1 4000
BEBBER HIN R E £ 05 1061241132 S0R 90 2 3000
EBERMN HIEE £ 05 1061241128 BROIE 89 3 2000
BEBBER HNxBEERNS 1061241246 £ 0:E 95.5 1 4000
EBERMNR HNEEERNS 1061241209 BROTT 95.5 1 4000
BEBBER HNEBEERNS 1061241219 1503 95 3 2000
EESSE LT TUERPY 2 () 1106136230 2loyF 91.5 1 4000
BEEEEMR PUER PN 2 (EHE) 1106136242 F O 90 2 3000
BESSE LT PUERPY 2 () 1106136206 =015 89.4 3 2000
EREAENEN FBESEXEN 1061644122 BO= 93 1 4000
BHAENE FBEEXEN 1061644119 ={oki] 90 2 3000

EREAENEN HBESEXEN 1061644118 BROFR 89 3 EREER  PIRABARE
BEEKR TS ES — D109183114 =10k 83.14 1 4000
BEER TRtk ES— D109183129 FEOH 81.38 2 3000

B2k TS ES — D109183103 HO#E 78.24 3 EREER  [BRABAZE
BEER Bk ES D108183129 Z0=E 89.92 1 4000
BEEMKR TS ES D108183132 E0%% 87.65 2 3000
BEER Bk ES D108183118 T O 86.69 3 2000
BEEKR Wi ES = D107183132 210i& 89.92 1 4000
BEER ik ES = D107183102 EAO&N 86.53 2 3000
BEEKR Wi ES = D107183145 =08 84.38 3 2000
BEER ik E 2 1061632110 BRO% 88.25 1 4000
BEEKR i E 20 1061632147 HHOR3 88.1 2 3000
BEER ik E 2 1061632103 ZO% 87.4 3 2000
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